

Apartment in Fgura



Fgura, South



€370,000

Reference No: 240271042-235

 Total Rooms: **6**

 Floor Area (m²) : **188**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Fgura

Situated in a convenient residential area of Fgura, this first-floor apartment boasts an impressive footprint of approximately 224SQM, offering generous living spaces throughout. The layout comprises a bright and welcoming open plan kitchen, living, and dining area that seamlessly leads onto a large backyard, ideal for entertaining and outdoor enjoyment. The property includes three well-sized bedrooms, with the main bedroom featuring an ensuite, as well as a spacious main bathroom. This apartment is being sold finished, excluding bathrooms and internal doors, allowing the new owners the opportunity to personalise these final touches to their taste. This unit forms part of a new smart block and is set to be completed entirely by the beginning of 2027. Contact your preferred Remax agent today for more information.

Features

- ✓ Ceramic Floor
- ✓ Skirting
- ✓ Balcony
- ✓ En Suite
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 5.62 x 7.88 m (44.29 m²)
- ✓ Double Bedroom : 5.54 x 2.63 m (14.57 m²)
- ✓ Double Bedroom : 5.49 x 5 m (27.45 m²)
- ✓ Double Bedroom : 3.93 x 3.42 m (13.44 m²)
- ✓ Hallway : 1.02 x 2.51 m (2.56 m²)
- ✓ Landing : 4.82 x 2.51 m (12.1 m²)
- ✓ Bathroom : 1.49 x 3.56 m (5.3 m²)
- ✓ Shower Ensuite : 2.14 x 3.25 m (6.96 m²)
- ✓ Open Space : 1 x 2.2 m (2.2 m²)
- ✓ Open Space : 7.69 x 6.59 m (50.68 m²)

Gallery





Kelcy White

RE/MAX South - Marsascala

M: 79263954

E: kelcy@remax.com.mt

T: 21555000

RE/MAX South - Marsascala

53, Triq is-Salini, Marsascala, Malta